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Paper : ECO-HC-4016
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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in Engh’sh or in Assamese
1. Answer the following questions : - 1x10=10
©oq PR e R
(a) What is Pareto optimality?
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(b)

(c)
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(e)
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(2)

Is there transportation cost under
perfect competition?
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What is market failure?
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What is the Shape of MR curve under
second degree price discrimination?
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Define supernormal profit.

SERT e S )
What is a perceived demand curye?
S iRm0 R 2

Write correct or incorrect :

“Under monopolistic competition, there
are a few sellers.”
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( Continued)

(3)

(h) What is oligopoly?
e e &2

) What is meant by moral hazard?

tfes ReIRs s B w2

() What is a two-person game?
f-afs cm R
i i : x5=10
2. Answer the following questions : 2
woq SpCAd Ted o -
(a) What'is a contract curve?
et

(b) Mention two important characteristics
of public good.
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{(c) What is préduct differentiation?
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3.
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(4)

(d) Mention two applications of game
theory.

CeT OG0T SISt Beme 9 |

e} What is informationasymmetry?
OYR weAfel ¥ 7

Ansvger any four of the following questions :
5x4=20

T AR R e wiRoR Sy fiyy -

(a) Explam briefly  equilibrium
efficiency under pure exchange,

o R crae srprmer S
YT I T .

and

(b) What is Coase theore;m? EXplam

Sl e ROT R p—

{c) Explain the ‘prisoner’s dilemma’
R R e

( Continued )

(5)

{d) How is the peak-load pricing done?
Explain. A

T ©3-50 T 4 9 W7 R0 A
fe) Explain the Bertrand equilibrium.
IRG I SRSl IR T4 |

() Briefly explain the concept of adverse
selection.
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4, Answer the following questions : 10%x4=40

oY 2R Be]

fa) Discuss the- equilibrium = price
and output determination under
monopolistic competition.
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Beoma fYReT SITCaATAT 91 |
Or /9337
Compare | perfectly competitive
equilibrium' with monopoly equilibrium.
o e SRSl WF s
SPReR ol 39 |
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(b)A

(6)

Discuss the equilibrium of two-person
zero-sum game with maxi-min and
mini-max strategies.
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Discuss ' the ' 'problems - associated
with - the markets with asymmetric
information.
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Discuss how Pareto efficiency in -

production is achieved.
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How are equilibrium price and output
determined under third degree price
d1scru'mnat10n? DlSCU.SS
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{ Continued )

(7)

(d) Discuss how production possibility
frontier and social indifference curve
determine allocative efficiency.
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Discuss how both positive and
; negative externalities. can lead to
| market failure.
\
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